G4-M7-Lesson 12

2 r
1. Drawat i w1 = 5 feet.
a tape diagram to show 3 yards ee ") kniow that 1 yard = 3 feet, so | \
2 .
1 yord 2 yord can de'compos.e eac.h yard it my
35 tape diagram into 3 feet. | can

L2 .
shadein 1 gyards, and since each

1 X
unit is E-yar-d, or 1 foot, | can see

that1 ";' yardsis equal to 5 feet.

5 feer e e ,/

2. Solve the problems using whatever tool works best for you. 1 foot
6 3
a. o foot=_ &  inches
< T [ I N >
iy

¢ 1 2 3 4 5 6 7 & & 10 11 12

b g9 3 o
. Efoot:;footm 9 inches inches:

| 6. 1, N
For part (a}, | know t,hat-fgfoot o= E]foot,_ and | know

that half a foot is & inches. For par{-s (b} and (c), [ can
make eqguivalent fractions and then find the number of

3Ix3 g 9
= ~ - foot is the same as 9 inches.

4%y 12 12

g 4
c. —foot=—feot=__ 8 inches

inches,

)

0 - Lesson 12: Use measurement tools to convert mixed number measurements to Eu
sraller units.. gl
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3. Solve,

a S;yd=_16 f

157 1
feet  foor

3
b. 4Zga1: 13 qt

N

is6 3
quarts guaris

a6 4
inches inches

1 yard = 3 feet, so 5 yards =
1
5 % 3 feet = 15 feet. And 3

vard = 1foot. 15feet+ 1
foot = 16 feet,

\\

1 gallon = 4 quarts, so. 4
gallons = 4 x 4 quarts = 16

1
quarts. And;gailon = 1 quart,

3
S0 Zgailon = 3 quarts. 16

Lesson 12:

\\quarts + 3 quarts = 19 quarts.//

1foot = 12 inches, so
3feet=3 x 12 inches = 36
1
inches. And ~—~2~-foct = linch,
_:E — M = i wflmf t
S03_ Ix4 12 12 09
equals 4 inches. 36.inches

\:1~ 4 inches = 40 inches.

\
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Use measurement tools to convert mixed number measurerments to
smaller units.
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